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3.4

42 BAERE

£ 1R

1.A
2.4

3fE. (D=5a2(3a+2).

(2)J5=8x(3m2-2n2).

A SR RIFE T, 715 atb=5,ab=6.

~ab+ahi=ah2(a+h )=(ab)*(a+h )=
36x5=180.

% 2 1RET
1.D
2.0 (DX =(x+y) (x-y-x-y)=
=2y(x+y).

(2) ) =(x-y) (x+y).
(3B =(x+y)4m(x+y)=(x+y) (x+
y+m).
(4))5x=(2a-h)(3a-2)-h(3a-2)
=(3a-2)(2a-b-b)
=2(3a-2)(a-b).
3.5 i =—2xy (aty).
2 x+y=5,xy=6 B, J5iz=-60.
4.(1+x)*
4.3 %

% 1 iR ad
1C
2.(9+4m)(9-4m)
3EFAME—, -1
4.8 . (D)) =(4x+3y ) (4x-3y).
(2) )7 =(x-2+2)(x-2-2)=x(x-4).
(3)Fx=x2(a-2b )-ya-2b)
=(a-2b)(x2-y?)
=(a-2b ) (x+y)(x=y).
5.12

% 2 igad
1A
2,58 . (1) =x2-4xy+4y*=(x-2y )2.
(2) == (4y2-4y+1)=-(2y-1)2
(3) )X =2x(m?-6m+9)=2x(m-3)2

34
3R

— JEFER

1B 2.Cc 3B 4C 5C 6B
ZEEE

7.(a+1)? 8.-6
9.3x",x"=2 10.2,4

11.7 8%-9 12.(x+2)(x-6)

1348 . (1))t X=3xy(2-3x).

(2)J5s=x(x+5)(x-5).

(3)Ez=(a-b ) (3x+2y)(3x-2y).

(4)JF=3(3x+1)2.

1458 . 2x3-8x=2x(x>-4 ) =2x (x+2) *
(x=2).

24 x=3 B}, R =2x(x+2) (x=2)=2x
3x5x1=30.

15.f# .- 'm*-3m=4,
-.2m*-6m2-8m+5
=2m(m?-3m)-8m+5
=2mx4-8m+5
=8m-8m+5

=5.

16. 98 ; h R S A% 7 43 14 1T AR

S=mR? 4A1r* =n(R4r)=re( R+2r)(R-2r).
4 R=7.8cm,r=1.1cm,w=3.14 i,
S=3.14x(7.842.2)x(7.8-2.2)
=3.14x10x5.6
=175.84 (cem?).
2B FIAE AT TR FUE: 175.84cm?
17.f%.(1)C.(2)F, (x-2)%

(3)3 x2-2x=m.
R =m(m+2)+1
=m%2m+1
=(m+1)?
=(x2-2x+1 )2
=(x-1)%
m ~
18.5% . (1)-3.
(2)EFH—AHFH x+n.
RIEEE, 15 202~ Tw+k=(2x-1)

(x+7m),

BP 22— Tx+k =22+ (2n-1)x—n.

Hots za, 15 2 1=

k=—n.
g (=3,
s P

= A= EACH x=-3,k BI(E R 3.

% 36 HA
3.4 hi

— LS

1.C 2D 3B 4C 5A 6D

ZEEE

7.2(x+1)(x-1)

8.ab

9B EAME—, W 4>-16=4(a-2)"
(a+2)

10.4

11.a+6

1 .5
12.33z3

13.8%: (DR =a( ®-2ab+b?)
=ala-b)>

()R =(x>-y*) (m—-n)
=(x+y)(x—y)(m—n).

14.%% . (1) JFE=(101-95)*=6=36.
(2)JF=(198+2)x(198-2)
=200x196

=39 200.

15.%% . 2x+y=0,

A3+ 22y (xby )4y
=4+ 2%y + 2xy 7+

=222 (20+y ) +y*(2x+y)
=2x*x0+y*x0

=0.

16.f% . R =(n+7+n-5) (n+7-n+
5)=24(n+1).

M0 HEREET, (r+7)=(1-5)2
REWE 24 Bk,

17.f% . -a2-4b-4=0, a%+2b’=3.

c.a2+4=4h+8,2b%+4b=-1.

A 12
5 b+2b-2 b(a2+4)

=2b2+4h=-1.

m,

18.1% . (1.

(2)9a*(x—y ) +4b*(y—x )

=9a*(x—y )-4b*(x—y)

=(x-y)(9a*-4b?)

=(x—y)(3a+2b)(3a-2b).

19.f# .- -a>+2b2+c2-2h(at+c )=0,

..a%-2ab+b%+h2-2hc+c%=0.

~.(a=b)*+(b-c)*=0.

-.a-b=0,b-c=0.

..a=b,b=c.

-.a=h=c.

- ANABC Z5Fi1 = AP,

20.f%:(1).-13=2%+32,

~A3 IR

(2)--M=x?+4xy+5y2-12y+k=(x+2y )*+
(y-6)2+k-36,

k=36 Hf ,M = “SEFEEL.

&,

21.5%.(1)2,4.

(2)Dx>-3x—-4=(x+1)(x-4).

@ +8x+7=(x+1)(x+7).

22.f#%.(1)-9,2.

(2)-x>-8x+6

=— (224 8x+42-42)+6

=—(x+4)%4+22.

—(x+4)*<0,

s—(x+4)%422<22.

AR -2 -8x+6 R KAH N 22,
BEBSAH R Y x (R R 4.

N

2358 . (1) (a+b V’=a*+2ab+b>

(2)2,3.

(3)(a+2b)(a+bh).

(4)(a+2b)(a+3b).

PEEH

(% 234H)
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% 33 8
3 AR

— JEESE
1A 2B 3C 4C 5A 6D
— T8
7.42 8.4 9.3
10.(3,1)  11../29
12.40°8 20°

13.f# .A (1,3),B(2,0),C(3,1);
AABC H AA'B'CSEIH 47342 4 B
A7, B EAERS 2 AN B e )
% 2 BT AR 4 A BT

14582 (1)WE, AA'B'C'B R FHE.

C

Bl 1O A’

c/

(% 1447)

(LB AC FIZRB: A ¢’ AT H
e

15.f8%: R APk o, JBR A BCD
BT AR =B TE EFGH WTH A, CD=HG =
24cm.

s B A AR =M DWGH
A AR,

CW=6cm,

~DW=CD-CW=24-6=18cm.

B R RN - % (DW+

HG)- WG:%—( 18+24)x8=168cm’

2 BSR4 O TR AR 2 168cm?

1658 . (1) HEHE =0 X AR B2 5
A[AEXIFR A DD P

D, D WAEBR 5 J2(0,3),(0,2),

o XL RS A AR (0,2.5).

(2)- 15 A,D WARFR31E(0,4),
(0,2),

- IEJE ABCD 51E75E A \B,C\D,
HR KR 4-2=2.

2B, C HARRRATINE(2,4),(22,2).

A\D=2, 5. D, B BR(0,3),

SOSAL AR RRIECO, 1),

o BLC AR BR A B (2,1),
(2,3).

25 LTS B, CLB,, C, IR BRS5]
2(-2,4),(-2,2),(2,1),(2,3).

17. EBR .- ¥ AABC LIS € e
s RS EHERE 1800192 ADEC,

./ B=/ DEC.

*AF//BE,

./ F=/ DEC.

~/B=/F.

m\

18.f#% . %% BB/,

-»/ ACB=90°, ~ BAC=60°,AB=6,

./ ABC=90°- 2 BAC=90°-60°=30°.
1

.'.AC:?A B=3.
~BCG=VABZAC? =\/6%37 =3\/3..

B AABC 85 A FISHTHE 7 )
Jiek% 60°15%] AAB'C,

./ BAB’=60°,AB’'=AB.

~AABB ZEH = fE.

./ ABB’=60°,BB’=AB=6.

./ CBB'=/ ABB'+/ ABC=90°.

. 7E RtABBC #1,BC=\VBB'*+BC? =
V7.

19.8%. (1) B AACD 255 A Fi
A 4 7 1) Jie A e — £ 45 21 AABE,
AABC EEN =ML,

“AB=AC, /ADC= L E, /. CAB=
/ DAE=60°.

“+/ BFD=97°=/ AFE,

./ E=180°-97°-60°=23°.

/L ADC=/ E=23°.

(2)-AD=AE, / DAE=60°,

~AAED REN =V,

./ ADE=60°,AD=DE.

B AACD BE5 A RIS T 1)
1538 AABE,

~AACD< AABE.

~.CD=BE=5.

+/ BDC=P°, LADC23°, / A DE=6(P,

./ BDE=90°.

~.DE=\/BE*~BD? =\/25-9 =4.

~AD=DE=4.

20.8% . (DWE Fr/~, AABC, N
FSRAE R = MTE 5

() ME TR, AABO MR AE
=M,

(3)-A, 28R R (3,1),A, =T x il
HIXIHR A A5 AebR R (4,-4),

CAA ITEBHL B RIEAXN =
—5x+16.

2 y=0, x=];5—6.

-8 PR .0 .

y
B. Ay
A
\
\B/'A c
E o[(¢) i P _ix
As

&,

21 . (1)IERR . iERE 1S, L BAC=
/ BAD.

~-DF LAC,

.2 CAD=90°.

./ BAC=/ BAD=45°,

-/ ACB=90°,

./ ABC=45°= / CAB.

~AC=BC.

(2)AF=BE.FHNTF .

FHiEH% 15, AD=AB.

./ ABD=/ADB.

-~/ DAF=/ABD,

.2 DAF=/ ADB.

~AF//BD.

./ BAC=/ABD.

-/ ABD=/FAD, 2 BAC=/BAD,

- /FAD= /BAC= /BAD= % x
180°=60°.

. AABD ZEN = ME.

~AD=BD.

TEAAFD FMIABED 1,

-/ F=/ BED=90°, ~ FAD= / DBE,
AD=BD.

~.AAFDx ABED.

~AF=BE.

22 f# AN R

@

@ ® @

(% 224R)
AN
235 . (1)IEM : 8K GC=GB.
L KGC 5 £ HGB BV EERE £,
./ KGC=/ HGB=a.
X -/ GBH=/ GCK=45°,
~AGCK2 AGBH.
(2)H(LDHAGCCK2 AGBH.

=S aca=S acan-

=S e cnex=S acatS scar=S soprtS acen=
SMCH:%SW,:%x%x4x4=4.

- WUE CHGK WA Ih 24 A
iy
S HY.
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I1.B 2D 3B 4B 5C 6A

—EEE

7.30 8.4cm 9.3

10.3V2
1_2.\5& 2V3 B2

1398 ; (1) 5 40 BF , 1% -3x—3<dx+
1100 &R 200, 15 -7x<14. P 11
FOBRLL-7 45 x>—2 B FR R H -

o .,

2 -1 0
(% 1348)
() EAEAXD, 13 x<3.fEAERX
@), 15 x>=2, WA S5 X AL figt 4 —2<
x<3 AN FRIR N«

ll.-1sm=

l\)‘m

—
-2 -1 0 1 2 3
(% 13418)
145 (1)K LB A B, BAFIER.

y
4 A
3

/15 y4
1

B
A-BR{I01L 234 X

5 B
w4
o A

(% 14%18)

(2)TnAE B A,B, B R AFSR.
15.f#.'DE T H ¥4 AB,
~AE=BE.
./ EAB=/B.
N -/ CAE=/ B+30°,
./ CAE=/ B+30°=90°-2 / B.
./ B=20°.
-/ AEB=180°-2 / B=140°.
16. 1%,
17.3ERR . -CE ¥4 L ACB,
./ ACE=/BCE.
CF¥4r 2 ACG,
. LACF=/GCF.
“'EF//BC,
./ GCF=/F, / BCE=/ CEF.
./ DCE=/ CED, / F=/ DCF.
~.CD=ED,CD=DF.
~.DE=DF.
@ ~

- x+3y=4-a.
18 M (1) [TT0S %
DO+®), 15 2x+2y=2a+4.
FR A v4y=a+2.
KA x5y BB E A AH L,
B LA x4+y=0, Bl a+2=0.
1S a=-2.

@B}y e

x=3-2y,
a=1-y.

x+3y=4-a,
x—y=3a.

fiEi%

HH-3<a<l,x<I1,
3-2y<1,
l-y=-3,
l-y<1.
Rt l=sy<=4.
19.(1) ACOD 2% = fE.
(2)0A=\/34 .
208 . (1) TS 15 x 7K AR 4 A
50x0.8x<3x50+50%0.7(x-3) ,
X=5.
AR & 5<x<9.
1 x HRE MR, - x=5,6,7,8.
BTN 5,6,7,8
B, iﬁ)ﬂ”*%ﬂhﬁciﬁ\%
(25—l 12528 :50x3+35( 10-
3)=395();
5 M 5L 3% :50%0.8x10=
400( 7).

BT LA

= zH
.19

S

RAR B —FhIMET S B,
T — Fh APk,
£\

21.7% . (LAF AG LBC T4 G, it
K FE ¢ AG T4 H, FImE,

-*AB=AC,.". . BAG=30°.

- 2R B EB 485, E B4 iEs% 600
SRR EL EF,

./ BEF=60°.

./ BEF=/B.

~.EF//BC.

-*AG LBC,

~AG LFH.

TE RtAAEH H,

--AE=6, ~ EAH=30°,

~EH=3,AH=3V3 .

~AFEVAHAFH? =V (3V/3 452 =
2V13 .

(2)3‘@% FB, .

"EB %85, E WA £ e 4% 60075 3|
LB EF,

. AEBF 2% i1 =¥,

-.FB=EB.

./ FBE=/ ABC=60°.

.. FBE+/EBA=/ABC+/EBA,
B ~ FBA= 2 EBC.

X --AB=BC,

~.AFBAx AEBC.

~AF=CE.

22.8%.(1)1.

(2 H{2x-1)=5,

AT A 5-1—s2x-1<5+1—.

2

il <3

(3)@@.

AN

23.5%:(1) £ DAC W ERUAR ST 7E,
FEHNE

“"EA=EC,. ./ EAC=/C.

-/ BAE=90°,

./ B=180°-
90°-2/ C.
-*BA=BD,../ BAD=/ BDA.
.-.ABAD:%—[ 180°-(90°-2 2/ C) ]=
45°+ / C.
./ DAE=90°-
/£ C)=45°-/ C.
./ DAC=/ DAE+/ EAC=45°.

(2)i5 £ABC=m°,)] 2 BA zk;—( 180°-

LBAE-ZFEAC-/C=

£/ BAD=90°-(45°+

m°):90°—%—m°, / AEB=180°-n°-m°.
./ DAE=/ BAE- / BAD=n°-90°+

"/ FEAC=/£C,/AEB=/FEAC+/C,
) 1 1,1,
..LCAE—2 LAEB=90°—2 n=m’.
../ DAC=/DAE+ /£ CAE=n°-90°+
%m°+90°—%n°—%m°:%n°.
3.4 kR

— JEHEE

1.A 2C 3A 4C 5D 6B
—EEE
7503 K
9.x=-1

11.2V3
12.a=51 a<?

8.(3,2)
10.15

1398 (1) &R HIIRAE x> 1.
() RERAIE N T <x<2-
14.(1)F#.(2)B.

154 . fig ) feal | XYM

5x+3y=31,
= 31-3m .
" 2
_5m-31
y_ 2 .
31-3m
2 2 =0,
ML R, 75
5m-31 0
3 .
ﬁ’#’:/gf%$ms%.
om R,
.m Hﬁ%ﬁl? 8,9,10.

16 fif . PN B MN B3R B
ek '?LAOB B 2R A8 s, T
P F| 5 M, N BIEEES A%, 2 AO,BO [
HE B U AR S5 PR AT -

(% 16 4 H)
%31 AABC ¥ E 2K BC [
R 19 3]%50 ADCE,

17.5%. -

g2l

JINERERTE 9H

2021-2022 F4

o\ FE R

~.BE=2BC=4,BC=CD,DE=AC=2,
/ E=/ ACB=/ DCE=/ ABC=60°.

.'.LCDB:LDBE:%LDCE:SOO.

./ BDE=90°.

TE RtABDE H, H 24 e # 15
BD=\/BE*~DE? =\/4?-22 =2/3 .

m\

18. f#.(1)(=2) %3 =(-2)*x
V3 -(2)xV3 3V3 =4V3 £2V3 -
3vV3 =3V 3 .

(2)3%m=-6,

».32m-3m-3m=-6.

1S m=-2.

i SR B AE B I AR TR

-4 -3 -2 -10 1 2 3 4
(% 18414)

19.%% . (DIEM .3 A AEAD L

BC T4 D, A,

A

B D C
(% 1974H)
‘"AB=AC=2\/5 ,AD1BC,
et pe_l 4
..BD= 5 BC= 5 x4=2.

TE RtAABD W, ) Ik
AD=7\/AB?-BD? =4=BC.

~AABC &"“FEm =M.

<2)®4’E AC 194k BD, I A,

B

SE HLAH

A D C
(%‘ 19 A A )
"AABC Z“Em=MIE"

~BD=AC=4/3 .
'.'CD:%—AC:Z\/.“& ,
~TERtABDC ', %)

BC=1/BD?-CD? =6.
@FF BC M4k AD, A,
B

JBCE B

D
A C
(%’19%5)
~*AABC J&“3Em =M~

~.BC=AD.
.cp=Lpec=Ll
+.CD=7-BC=7-AD.

TE RtAACD ', HAERIFCD>+
AC*=AD?, Bl CD+(4V/3 )*=(2CD)2

fi#1% CD=4.

~.BC=2CD=8.

~BC B K 6 3§ 8.

20.f#:(1)iERR .- AABM 5 AACM
KT HL AF BEIXTFR,

~AABMx AACM...AB=AC.

X -+ AABE 5 ADCE &F /4 E i
HRUDXTFR,

. AABE= ADCE.

~.AB=CD...AC=CD.

(2) £F=2MCD.BLH T

H(1)n#8 2~ BAE=/ CAE=/ CDE,
£/ CMA=/BMA.

--/ BAC=2/MPC, 2 BMA=/ PMF,

% £ MPC=a, M| ~BAE=/,CAE=
/ CDE=a.

&% £ BMA=8, 1| 2~ PMF= £ CMA=B.

. LF=/CPM- 2 PMF=a-B, M-
CD=/ CDE- 2 DMC=a-B.

.. F=/MCD.

&,

21.f#.(1)PE=2.

(2) AEFP 2 EA =ML FHUWIT

- AABC &% =7 ,BD ¥4
/ ABC,

./ ABC=60°, ~ ABP=/ CBD=30°.

-*PE LAB,.".~ PEB=90°."./ BPE=60".

FQ T H £k EL BP, . FB=FP.

. FBQ= £ FPQ=30°.

./ EPF= / EPB+ / BPF=90°.

~.AEFP Eﬁﬁa fHIE.

22 f: (1>A ) B(t,35t).

mnﬁmkm Fﬁ&%a%

(F K /ed), Hoth A 53 A9 Ry 35 T
K/t

B 15 A5 5 H A A 5 &0
Hsf AH

HRHE A, 15 45t+35t=20.

%ﬁh%.

1 A B g A B 21 R/

4
A AH 18

(3)1 ZBARAAfTHE RN y,=
45t, 1R [0 i e R AR y,=-45t+20, HiAlh
BA 53 47 ifE B 56 R AR y,=35t, .1 S BA
B 5 HABBA G B y,-y>2,

t

-45t+20-35t>2.

/BL 9
it = <t< 40

I {45t—35t>2 )

7 R

23.f& . RHEM L,

PB=5.

2.

- AABC B EE M —MIE,

./ ACB=90°,AC=BC.

$ ABCP %% i C ET £l e % 90°
R AACP, EHE PP, WA

(% 234 R)

. LPCP' =90° ,CP' =CP=2 V2,
AP'=BP, / AP'C=/ BPC=135°.

./ CPP'= £ CP'P=45°.

~ACPPREHHEHM =M.

~PP'=\/CP'%+CP? =4.

'.LAP P=/AP'C- L CP'P=135°-
45°=90°.

.-.BP:AP':\/W =3
BE AR
/HAACD 285 C Wi 1200
53| ACBD’, %4 ED' .4 D'H LBE T
FOH, WA,

(% 23418)
P i 5 B9 PE B, A1 AD=BD’ =2,
CD=CD’, ~ ACD=/BCD’, L A=/ CBD'.

-~/ ACB=120°, ~ DCE=60°,
., ECD'=/BCD'+/ECB=
/ BCE=60°.
./ ECD=
-EC=EC,
~AECD<2 AECD'.
.DE=DE'.
--CA=CB, ~ ACB=120°,
./ A=/ CBA=30°.
-/ EBD’= /. ABC+ ~ CBD'=30°+
30°=60°.
T£ RtABHD',BD'=2, L EBD'=6(0",

.'.BH=%BD’=1,D’H=\/ 3 ,EH=

£ ACD+

£ ECD'.

3-1=2,
ED'=VEH*D'H? =\/7 .
~DE=VT7T .

£3IW



